¢ area bounded in the first quadrant by the normal at (1,2)onthecurve y?=4x, x-axis & the
curve is given by :
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5, Supposey =1 (x)and y = g(x) are two functions whose graphs intersect at the three points (0, 4).
4
(2:2)and (4, 0) with £(x)>g (x) for 0 <x <2 and f(x) <g (x) for2 <x <4. If [[f(x)-g(x)]dx =10and
0

4

I[g(x) —f(x)]dx =5, the area between two curves for 0 < x < 2,is
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3. Let'a beapositive constant number. Consider two curves C,:y=e*C,:y=e** LetSbethearea of

the part surrounding by C - C, and the y-axis, then Iim i equals
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/' Thearea of the region(s) encloigd by the curvesy = x2and y = \[|x— is | w#’:— - | = ., .A L
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5. Areaenclosed by the graph of the functiony=/n2x— 1 lyingin the 4" quadrantis ¢~ (/7% —/
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6. The area bounded by the curve y = f(x) (where f(x)>0) , the co-ordinate axes & the line x=x, is given
byx, . ¢* . Therefore f(x)equals:
A)e* (B) x e* (C) xe*—e* (D) x eX+ eX

. Theslope of the tangent to a curve y=f(x)at (x, f(x)) is 2x +1. If the curve passes through the point
(1,2) then the area of the region bounded by the curve, the x-axis and the line x =1 is
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8.  Thearea bounded by the curves y=x (x —3)? and y=x is (insq. units) :
(A) 28 (B) 32 (C) 4 (D) 8

9. Areaofthe region enclosed between thecurves x=y>—1land x=ly| 41 _y2 is

(A)1 (B)4/3 (C)2/3 (D)2

10, The curvey = ax? + bx + ¢ passes through the point(1,2) and its tangent at origin is the line y = x. The area
bounded by the curve, the ordinate of the curve at minima and the tangent line is
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